L5.

16.

17.

18.

UNITIV

Explain the short run equilibrium of a firm under
perfect competition.

Sogry o oSS tog @Y, RS

S0 ery) D3B0HHL.
Or

Explain equilibrium and price determination
under monopoly.

C RomeEs 23,6 SoSiegn B0 8 ALY

JHBoFHHW.
' UNITV

Define National Income. Explain various methods
to estimate National Income.

oD emrolry) 800D, Ak eorab 80P
‘:)géoem DHBoF.

Or

Describe the role of WTO in promotion of
International Trade.

LOBIAAH 3"53“”*95.)265 WTO %5 29580800,
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B.Com. DEGREE EXAMINATION, JULY 2011.
(Advanée Supplementary)
: (E:I'(amination at the end of First Yeér)

Restructured

Part I — BUSINESS ECONOMICS
Time : Three hours - . ‘ Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.

1.  ‘Robbins’ definition to Economics and its main
points.

efTol oBY) WS DYBH0 2BA0 Bo&HSD
QogToTeD.

2. Determinants of Supply.
R30000 dono) wowen.

3. Production Function.

&8 Soo.

4.  Features of Perfect Competition.
Doy 208 5370 65 e¥eren.

5, Objective.s of WTO.
WTO ogrgen.

AYSIDAIUN BUYSLDY



KriéhnaEL(J:niver_sit

onomic a¥1d Non-Economic activities.

esgg 208050 esgééd seigEeraeen.

Returns to Scale.

BEFH0060 PASee.

Kinky Demand Curve.
208 &350 3.

SECTION B — (5 x 10 = 50 marks)

Answer any ONE of the following question from each

10.

Unit.
UNIT 1
Explain the few of Eqﬁi-Marginal Utility

SAD08 (SBIEd Jov @R 9B0HHw.

Or

Distinguish between Micro Economics and Macro
Economics.

Argy egTEio W6 Hre egvyo S8
B SBR0550.

2 (1201)

11

12,

13.

14.

UNIT I

Explain the various methods of measuring price
elasticity of demand.

88 Garob TENERy Feodowd Ko Sgves
DHdB o).

Or
Explain the law of demand and its exemptions.
&m0l ey 980 05FonoPHeo Eb@oiﬁoﬁnzm
| UNIT III

Explain the law of variable proportions with the
help of suitable diagram.

B Se) FSTONID DTROTG JrErR) H580:HB0.
Or

Explain various short run costs with the help of
Diagrams.

BrHeane DSFAHHLD DS sy bsdb'éa)e)m

2380530
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B.Com. (Restructured) DEGREE EXAMINATION, JULY 2011.
(Advance Supplementary)
(Examination at the end of First Year)

Part II — FINANCIAL ACCOUNTING

AJSIaAlUN BUYSLIY

Time : Three hours Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.
Each question carries equal marks.
1.  Distinguish between book keeping and accounting.
a0k Ehofly, e ool darey Erolod.

2.  Explain the advantages of computerised accounting.

5or5eidd e otdoR Jed asArrsnes deyod.

3. Explain various types of rectification of errors.

DD 50 Biypedo 1070 958030,

4.  Distinguish between sale and consignment.
eaRERNRD, ESPERA0N Dol Baren EaDod.

5. What are the main causes of depreciation?

BEHHOSODH SPEEro Beyok.

6.  What are reserves? Distinguish between reserves and provisions.
Besthagen e B20? OBesdogoih, TR0 Sagsy e Baren 207

SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.
Each question carries equal marks.

UNIT I

7.  Show the accounting equation on the basis of the following transactions :
(a) Mohan commenced business with Rs. 70,000
(b) Withdraw for private use Rs. 1,700
(¢) Purchased goods on credit Rs. 14,000



(d) Purchased goods for cash Rs. 10,000

(e) Paid wages Rs. 300
() Paid creditors Rs. 10,000

(g) Sold goods for credit for Rs. 15,000
(h) Sold goods on cash (cost price was Rs. 3000) Rs. 4,000
(1) Purchased furniture for Rs. 500.

e BIDD 9008’ 8 0o HBEBRMR B Sod.

(a) DS TR0 DV0HODI AE3y 8. 70,000

(b) romrdd &N &r. 1,700

(c) e Dos 57 DK &ov. 14,000

(d) S 5% 960 7. 10,000

(e) Bowre Doy 6. 300

® wmes; ddo3P &r. 10,000

(8) ot DHE SN edyfo 8. 15,000

(h) DKL 3% edyso (80> §6 8. 3,000) &5. 4,000

() 580 SHoR% &r. 500.

8.  On 1st October 2007 H. wood commenced business with a capital of Rs. 30,000 of which
Rs. 25,000 were deposited in bank and the balance was retained in hand for business purposes.
During the month of October his transactions were as follows :

2007
Oct.1  Bought of Asmith goods by cheque Rs. 7,000

QOct.

[y

Sold goods to W. Williams Rs. 510

Qct.

(<]

Bought furniture for cash Rs. 500

Oct. 4 Purchased goods from W. See Rs. 580

Oct. 7 Purchased goods from J. Car Rs. 230

Oct. 8 Returned goods to J. Car Rs. 30

Oct. 8 Paid W. See by cheque in full settlement of his account Rs. 560
Oct. 11 Accepted B/E drawn by J. Car Rs. 200

Oct. 12 Goods to bought for cash Rs. 150
2 (1202)
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2007
QOct. 14 Goods sold to S. Hart Rs. 130

Oct. 16 Received cash from W. Williams Rs. 500 discount allowed Rs. 10

QOct. 17 Received back goods from S. Hart Rs. 20

AJSIaAlUN BUYSLIY

Oct. 18 Received S, Hart’s acceptance for Rs. 110

QOct. 20 Withdrew from bank for private expenses Rs. 110

Oct. 31 Cash sales for the month Rs. 1,400

Oct. 31 Paid established charges in cash Rs. 120

Oct. 31 Remitted to bank cash in hand this day excepting Rs. 100 -
Oct. 31 Paid rent by cheque Rs. 50

Oct. 31 Stock on 31st October, 2007 Rs. 6,370

Enter the above transactions in proper subsidiary books, post there from into ledger, and
then prepare a trial balance.

e§ et 1, 2007 5 H &r. 30,000 o8’ &5 Ty2morg) @50909, & Jo 0é 8. 25,000 ersos’ S8

B2, DoROD JneeRy TR0 §750 B SIS GODHTH. et Jod” 85 H5Hoen Bo8 dEort aTyan.
2007

ol iy, Txor b 2ol Kb SRoR%en . 70,000
efas2 AL S edylo 8. 510

e utid  HMEH 5858 SoR'en K. 500

e, 4§ ol Hhh S0 &, 580

g utT b Rod HHKH SR’ &r. 230

of s 8 b0 50D THRow &r. 30

oS 8 3308 Je8 erl 583, som anyd Dy, 8. 560
oS ut 11 555 woRsos dayen &r. 200

O 12 BRI St SR ew 8. 150

o 14 B HEDH esdyfo 8. 130
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2007

o w16

esgmd.) 17

oE 0018
o w20
e w31
e 31
o n31
g w31

Ugmd.)a 1

DAHAY 008k HAYS K &7, 500 &8 2ays im0l & 10

S 008 T DAY D &, 20

AlsIaAIUN BUYSLIY

5§ 008 320 H55® (Bey) & 110

5300 igyo §°%50 ergoth Sood SDH K. 110

0 2008708 SN edystes 5. 1,400

D5 PENET DYoDiS ek &, 120

8. 100 65 IBS® 2R dig BRI eryoHivo Do
ey, orxer &P Doy &, 50

S Deg 8. 6,370

2 ISP SHA0E PITeS® b, e SArdes 3, soferod: S Sabod.

UNIT 11

Enter the following transactions in cash book with discount, cash and bank columns :

2007
Dec. 1
Dec.
Dec.
Dec.
Dec.
Dec.
Dec.

O O~ A W N

Dec. 11
Dec. 15
Dec. 18
Dec. 20
Dec. 22
Dec. 25

Cash in hand Rs. 16,000

Opened a bank account with Rs. 7,000

Cash purchases Rs. 600

Received a cheque of Rs. 400 from Prabhakar and gave him discount of Rs. 25
Cash sales Rs. 1,200

Received a cheque of Rs. 100 from Venu for interest
Salary paid to the manager by cheque Rs. 450
Withdrew from bank for personal use Rs. 300
Purchased a bicycle for office use Rs. 300

Paid office rent Rs. 80

Sold goods for cash Rs. 900

Purchased government bonds for Rs. 700

Paid travelling allowance to the manager Rs. 150

4 - (1202)



2007

Dec. 27 Received commission Rs. 175

Dec. 28 Gave a cheque to Ajantha for advertisement Rs. 50

Dec. 29 The cheque received from Prabhakar on 4th Dec. was dishonoured

Dec. 31 Cash in excess of Rs. 2,000 was paid into the bank.

&1 (208 Hpiorein Gdm,08, RS, ePyPH BB MK PIsted® trabod.
2007

StomthH1l DA B v, 16,000

BtontH2 &, 7,000 8 empHes® gremss 30T

Stont> 3 BK SR 8. 600

Gdonth 4 (Sersb 000 Sayd DKy, v, 400, SBDS IS Aam,085 &m. 25
Bonth B M edysen . 1,200

S3onH T B erSto Sew H002 Sayyd By, 8. 100

Ssonth 9 Wodestiolh Ky, Trgoe Do o . 450

&0t 11 Rrofh TS O eryotd S0 DB . 300

&sontH 15 ehit edsore Do 5% PiS &r. 300

S5ontH 18 ed> &g Do &, 60

Sdonth 20 SRS SEHH edyseo &, 900

Sonth 22 HSEA060 EPots) SRR 6. 700

50025 WFestd DYoo (Sakres weddyen &, 150

Sdont 27 Sarys SRS &, 175

Sdonth 28 e50d [B¥wde 5750 Ayd D), &, 50

S300tH 29  (H5rEB S 200D 49 B8 Stonsod 32y Ky, BT EBoBRAESS
&torth 31 8™ 2,000 & 000 MK eryosdS” Same Do

5

AJsIaAlUn BUYSLIY

(1202)



A

10. The bank passbook of a trader showed an overdraft for Rs. 4,500 on 31st March, 2008 and ag
difference was noted when compared with the balance as per cash book. On a careful scrutiny the3
fellowing facts were noticed :

n

oAIU

(a) Cheques deposited for Rs. 7,500 but were not credited by the bank before 31st March,
- 2008. '

Alisd

(b) Cheques issued for Rs. 3,850 were presented for payment on 4th April, 2008.

(¢) Bank column total of debit side of the cash book folic 36 for Rs. 65,950 was carried
forward to the next folic as Rs. 56,950.

(d) Withdrawn column of the bank pass book was added Rs. 600 excess.
(e} A cheque for Rs. 3,500 withdrawn from bank but recorded in the cash book as Rs. 5,300
() Bank charges Rs. 150 debited by the bank but not recorded in the cash book.

You are required to prepare a Bank Recenciliation Statement as at 31st March, 2008
and ascertain the balance as shown by the cash book on that date.

31 578), 2008 a8 IPED ey FY[Lo LIBIER . 4,50000 DEPEYPB. B HH¥o DegE® 20y

B SoucoBus. s 58805 He HI0D voT ey 108odtEo BBRIE.
(a) 8. 7,5000 DL erpeind® G286 Babio wBASE. 572 31 Sreys’Se ol BAS aigBSd.
(b)  &r. 3,8500 e wbanm, 4 HBS 2008 DDoHed oraer JabndHs.

(€) »rDIo BOSYDR rPH oD LS oo &r. 65,9500 BT LASSE By

#r. 56,950eur praiido wBR5A.
(d) 0‘5053 &5@:3& &N0rEe DR 8. 600 .Dﬁb_bz’)m oo sBABA.

(e) eyt Rood 8. 3,5000m D), F ASH0BoSREH8. % A Q)fgs*eé‘ oD 8. 5,300e0rr

S Bohodss.
() ampe® B IV . 1500 erppid Then HEPILS” FIT B,
31 ard) 2008 T3 erpP®H deg FILAHIPD BaHH SaLod. e BBPD HEHYHTO BID Jegh

EoRTHok.
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UNIT 111
11. The following balances were taken from the books of Shri Ram Prasad on 31st March 2007 :
. Rs.
Capital 1,00,000
Drawings 17,600
Purchases _ 80,000
Sales 1,40,370
Purchases returns 2,820
Opening stock 11,460
Bad debts ' 1,400
Bad debts provisions (1st April 2006) 3,240
Rates and insurance 1,300
Discount (Cr.) 190
Bills receivable 1,240
Sales returns 4,240
Wages 6,280
Buildings | 25,000
Rent (Cr.) 2,100

Railway freight and other expenses on goods sold 16,940

Carriage inward 2,310
Office expenses 1,340
Printing and stationary 660
Postage and telegrams 820
Sundry debtors 62,070
Sundry creditors 18,920
Cash at bank 12,400
Cash in hand 2,210
Office furniture 3,500
Salary and commission 9,870
Additions to building 7,000

7 (1202)



Prepare Trading and profit and loss account and Balance sheet as on 31st March 2007, after

keeping in view these adjustments :

(a)

®)
(0
(d)
(e)
®
(®
(h)

31-03-2007 a8 Eor5) 50 By, DS 5008 808, Degen BEHedS.

Depreciate old buildings at 24 % and new additions to buildings at 2% and office -

furniture at 5%.

Write off further bad debts Rs. 570.

Increase the bad debts reserve to 6% of debtors.

On 31st March, 2007, Rs. 570 are outstanding for salary.
Rent receivable Rs. 200.

Interest on capital at 5%.

On 31st March 2007, stock is valuable at Rs. 14,290.

Unexpired insurance Rs. 240.

Jarediiho

Beolh ToisTe)

CRRY

e‘::oés"a.)

£ 50R% TSR0

Proots S

oD erfen

o0 erfeo 58

Beay Bk B

&0%,065 (Cr.)

DRATFe) Dyen

emés'w Tedoed

Avoren

gidaren
&0 (Cr.)

&8
1,00,000
17,600
80,000
1,40,370
2.820
11,460
1,400
3,240

1,300

190
1,240
4,240

6.280

25,000

2,100

AJISIaAlUN BUYSLIY
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DB D35 2GS PO KD edEdE 16,940

AJSIaAlUN BUYSLIY

ST oR’en Saver 2,310
eDD psnew 1,340
Baoes, R0 860
2R, DoAY 820
DD wetny 62,070
DD eSO 18,920
eroHS” e 12,400
38&° Kt 2,210
b 5858 3,500
deren 2080 058 9,870
o Bepen 7,000

(808 St B5,5%08 B8 31.3.2007 T8 K erisgpes rEm) 63 eifpe 3P0 BT Aakod :
(8) o P5ep 2.5% Pfoare Do 2% WBakn ed $8ys8p 5% Bivse.

(b) esdomr od erden S, 570.

(© o wrloo Bestig mueniimop BF domen Sabod.

(d) 31 55°8) 2007 £ JPoBHedS Bored K. 570.

() osehs of & 200.

() Soreissop v 5%.

(g) 31.03.2007  deg & 14,290.

(h)  esary dar s, 240.

Dep Sefpen, I, ORI PO 2805 e eipo SPE° Aam,0t O Ao dowod drSod.

12. The following mistakes were located in the book of a concern after its books were closed and
a suspense account was opened in order to get the Trial Balance agreed :

(a) Sale day book was overdraft by Rs. 100
(b) A sale of Rs. 50 to X was wrongly debited to the account of Y

(©0 General expenses of Rs. 18 were posted in the general ledger as Rs. 80

9 (1202)



Ysiay

(d) A bill receivable for Rs. 155 was passed through bill payable books. The bill was given
by P

(e) Legal expenses Rs. 119 paid to Mr. Dufty were debited to his personal account.
(f) Cash received from C. Dass has been debited to G. Dass Rs. 150

AjIslsAlun eu

(g) While carrying forward the total of one page of the purchases book to the next, the
amount of Rs. 1,235 was written as Rs. 1,325

Find out the nature and amount of the suspense account and pass entries for the

rectification of the above errors in the subsequent year’s book.
&8 TR S0P HIse0 M hTBE BILD Biipen exdiber Sdmrow. soser 550552 SAVEDS ST 4RO
(@ 0POT. |
(a) B8 o3ys e HiI¥o 7. 100 JE,Ire Lreseo BRJE.
(b) X & edyd St 8. 500k efpre Y & deeS Saho m6RSE.
(€ Aot Pnes &, 18 oo 3Grden o3P &5, 80 e S35 I,
() 33ren Bey 6. 155 01 oY Beyenr HHES® ok, e By P aomd.
() &5ao DYodd D Sowods PENES 8. 119 0l 8B H3KG e S0 Iv.
B D oH H008 HHYO I & 150 00 B0 PrErd &0 I,

(8) SHRWY HILoS® el DS oo G, 1,235 oin I LBST Dot SED Ghedpdd
8. 1,326 oraco wBRod.

ST PT° JEFTRY, TR @Ry B0, BB HSosyore JIsres® p T3 Sk oo TR
BrSod.

UNIT IV

13. Atlas Ltd forwarded on 1* January 2011 100 byeycle to Gupta & Co. of Lucknow to be sold on
behalf of Atlas Ltd. The cost of one bycycle was Rs. 250 but the invoice price was Rs. 300. Atlas Ltd
incurred Rs. 1,000 on freight and insurance and received Rs. 10,000 as advance from Gupta & Co.
Gupta & Co. paid Rs. 500 an octroi and carriage, Rs. 400 as rent and
Rs. 300 as insurance and had disposed of 80 bycycle for Rs. 25,000 by 30t June 2011.
Gupta & Co. is entitled to commission an sales at 5% on proforma invoice price and 25% of any
surplus price realised. Gupta & Co. remitted the amount due from them by a bank draft.

You are required to give journal entries to record the above transactions in the books of the
consignor and the consignee and also write up the ledger accounts in the books of both the
parties.

10 (1202)



A

o7 O208E Th w58 1, 2011 3, 100 PP o8 Ko 102 & 5% eerd S20DEWD 38 BEYS e

E5p52000p SoDTD. 18w $8 Gr. 260 ST, adTond 8 8. 300 I ApBodT. werd

N euysu

020630 TG i 208t (65 B0 6% 1,000 M. 596012 137 & §* 0l 8. 10,000 msorms
BHID9D. 02 & & 0 epan 2BALo ETee Gots K. 500, GRE r. 400 280 ST G, 3008,
3goomt>. 8 30, 2011 3 80 PAY, 6. 25,0000% M & §° s eI, T2 M .
BITOND $EP 5% 2oBaH DY (P 5% THHd ETHe SrosBed AoHs. K & 5 I DdodHeds

BB ek (R TRO° OB
)00 0B Sowd, 2P Jrsred® dep S0 HBALD BT TT O BNl

14. A and B enter into a Joint venture to ship goods abroad. A sends goods to the value of
Rs. 1,000 pays freight Rs. 100 and sundry expenses Rs. 150. These transactions take place on 1st
January, 2006. B sends goods valued at Rs. 750, on Feb. 1st and pays freight and insurance Rs. 80
and sundry expenses Rs. 50. B advances to A on March 1st Rs. 450 on account of venture. A
receives amount sales and remittance and net proceeds for whole of the goods amounting to Rs.
2,500 on 1st April. Final settlement between A and B is made on 30th April 2006, show the
transactions of the venfure calculating interest at 5% p.a. in months.

A 58050 B wdhed dered’ St elyoth aigd myorod® [S380o8. A 67 1,000 &0 deudie S
SOV, 0K BT 6. 100 0, 206 pEne Eols 8. 15060 Dodio sORIB. He JPStores 1 w506,
2006 & 2Brrooo, 1 [@RH85 Sov. 750 e Deud Db Sk B & Sodarth. A2 §%0 dorer o8k Do Bods
&, aOam,agcsmdaaé)s“aodr. 50 o0 Ddodmr. 1 5r8yd 6. 450 en B eagioyr A 3 Sodard.
1 9365 A & 8. 2,5000 3060 SR Sowofodid edysre groe 0800 88 300D $ay98. A, B o 2ogy
30 RS, 2006 3 PEren 5Bx,IYBE. THoDE Towofodd HETTresy HosEYrRE 5% 8§ (I5°8o deoH
D558 “rSod.

UNITV

15. ABC Ltd has purchased a second hand machinery on 1# February 2008 for Rs. 50,000, paid
Rs. 11,000 for its overhauling and Rs. 5,000 for its installation which was completed by
31= March 2008.

The Company provides depreciation on its machinery at 15% per annum an diminishing
balance method from the date it is put to use and closes its books as 31% December every
year.

As 1# January 2009 a repair work was carried out as the machine and Rs. 5,000 was paid for
the same. The Machine was sold as 31# October 2010 for a sum of Rs. 11,000 and amount of
Rs. 1,000 was paid as dismantling charges.

Prepare machinery account from 2008 to 2010.

11 (1202)



@58 1, 2008 5 ABC 88 3% o 6abopswd (second hand) &r. 50,0000% §%0R%en I,
&5°. 11,0008° S05:5089e0 Soodaetd. 55°8) 31, 2008 738 abogsau FeB8 i3 &or. 5,000 pdy BT

N BUYSIL

S0 T GHoip SodEYTTOE 15% Ty BIBIY Dode SEA (S50 B oboo SBrRot 38
5308 BE),00T0. LoD T (5B S0 E0eDH 31 S B0 PIERNEDO JANT.

SAIU

As.

5556 1, 2000 B DGR & 5,000 6 DReLo. e 31, 2010 aLogsRnm &, 11,0000%
8. 2Bk AHOBBI &oRowesd e, 1,000 &) I

2008, 2010 Joddore) oo a0 Bt Savod.

16. M/S Higginbothoms provided Rs. 10,000 as reserve for repairs and renewals every year. The
actual expenses incurred by them for repairs and renewals in 2008 was Rs. 5,000, in 2009 was Rs.
8,000 and in 2010 was Rs. 12,000. You are required to prepare the reserve for repairs and renewal
account for the three years ending 31* December 2010.

oty PRSSES) TR0 (96 DosEhn rHyier B HISHRLH SV &r. 10,000 Betgo
DigyyBomK>. 2008 Sou K. 5,000, 2009 Hon &, 8,000 208k 2010 Hou . 12,000 o SatdoBiyes aBak
DPDgIRETEs EBL TR0 PEIDT0. Sdoatd 31, 2010 eobudy Bty SoddhTresd Dutnige Dbk

DIBGIPESe> Bestiog Pree BHOSrEd Jahod.

12 (1202)



15.

16.

UNITV

What are the causes of conflict between line and
staff? How can this conflict be removed?

B ;ﬁuBoSoJ aoq) 959 g5 Josogetd Ko s"ée'a;‘men

20?7 T30 dorm H8,80D8H?

Or
Distinguish between Delegation and
Decentralisation.

OB ESHH SoBaib TEo B8t iy Buren Frobod.

- (209
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B.Com. (Restructured) DEGREE EXAMINATION,
_ JULY 2011.

(Advance Supplementary)
(Examination at the end of First Year)

Part II — BUSINESS ORGANIZATION AND
MANAGEMENT

(w.e.f. 2010-11)
Time : Three hours . Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.

1. Need for Commerce.

Toedesgo B0, BHIBHW.
2.  Self Financing.
ergro S8R :J&BEJ&.
3.  Partnership Deed.
rHRg0y, a,:)“)ocsnﬁ.
4.  Prospectus.

58500 S0,

AjisiBAlun euquJ){



Krishna University

5.

10.

Debentures types.

ABoBes-Bsen.

Formal organisation,
OPHR OB S5,
SECTION B — (5 x 10 = 50 marks)
Answer any ONE of the following questions.
Selection for ONE question from each Unit.

Each question carries 10 marks.
UNIT1

Define Business. What are its characteristics? |
TS0 SOTRN? TD Lo D3BoB0&.
Or
Write long term sources of Finance.
B8 28 S K80 Fratod.
"UNIT 11
Discuss various types of Partners?

Res” ot 936004,

Or
Write the features of Joint Hindu family business.

©DEfY 2rod HLowo OFFTOR RO,

2 | (1203)

11.

12.

13.

14.

UNIT III

Explain the advantages of Joint Stock Company.

a0 T8 Sod Tgrto BoY), ergren Frobod.

Or

What is Articles of Association? What are its
contents?

DADATIO eHMaN? ot D eomen 297

UNITIV

Explain the concept of Planning. Discuss the not
use of Planning.

Peroiser edrAnn? Serdlite Serory 380B0d.

Or

Define  scientific

advantages.

management. Give its

?sgcm DEGTEY BITDN? HAreToR Frabod.
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(a)

(b)

(b)

How will you set custom animations and ,

transitions in a PowerPoint slide?
536 20085 HoES® %35 Haons w6k
RIS Do DeS Botnsos® 258053

Or

Explain how do you create a complete
database  using wizard with a suitable
example in MS Access.

MS airg06* smfio asdriod dwdhs Jeor
BabeS BomS® amrimiestvos® 538050,
What are the services available on Internet?
200665 ogigrb Sl 9580504,

Or

Explain about

()  E-commerce
'&—S‘ﬁ)sn)
(i) Internet banking.

A0e0BReS wvéoﬁoﬁ o5 33803030,

4 (1204)
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- B.Com. (Restructured) DEGREE EXAMINATION,
- JULY 2011.

_{(Advance Supplementary)
(Examination at the end of First Year)
Common Paper

Part Il — FUNDAMENTALS OF INFORMATION
TECHNOLOGY

Time : Three houfs ‘ Maximum : 70 marks
SECTION A — (5 x 4 = 20 marks)
Answer any FIVE of the following,gue_sﬁons.
- Each question carries 4 marks.
1. Explain about ROM.

ROM X809 2580amw.
2.  Whatis an operating system?
es5B30R PP BRI ID07?

3. What is Recycle bin? How can you restore the files
and folders from Recycle bin?

836 B35 e 32?2 oo 2Bk Jgbiso B8S 85

00 Jer deg DAK?
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Unive rsitﬁ_ ,
ow to working with tables in MS Word?

MS Word &° 8e$)8° Der 52 3a606° 95805307
Write a short note on filters in Excel.

I35 Dby 080 2380908.

What are the advantages of mail merge?

200wé Df a5&BrmTes Fonod.

What are the advantages of MS PowerPoint? |
MS PowerPoint &3@37mrod @rafood.
Explain the ¢common types of networks.
DD DEING 558Gy, § 800 99803084,
SECTION B — (5 x 10 = 50 marks)
Answer the folloﬁring questions,

Each question carries 10 marks.

() Draw the block diagram of a digital
computer.

ZoJrspatos® grifvey Brdoly JBaL AD
DH80BBW.

Or
2 (1204)

10.

11.

(b)

(a)

(b)

(a)

Explain various input and output devices.
2 BEINBD aSHES 208050 PSP Eden
809 DBBoHa.

Explain different operating systems and
discuss their merits and demerits.

22 Bsro esBSofl DRy PoBan e
&3&T e, 6‘@@@ 958008,

Or

Explain DOS Internal and External
commands with five examples for each
category.

©0BgS oBA alrgs Ssrobeds R a8,

08 &) GTErEeen Fraod.

Explain the mail merge concept in MS Word.

MS Word &° Sooé 2§ 0800 258030&.
Or

Write the steps to create a chart on
worksheet with example.

Fb B ASH  as@rRod Ty Jer
820838 @raod.
3 (1204)
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B.Com. (Vocational) (IT) DEGREE EXAMINATION, JULY 2011.
{Advance Supplementary)

(Examination at the end of First Year)

AlsIaAIUN BUYSLIY

IT procedure and Pract.
Part IT — INDIAN TAX SYSTEM AND INCOME TAX LAW — 1

Time : Three hours Maximum : 70 marks
SECTION A - (4 x 5 = 20 marks)

Answer any FOUR of the following.

1. Income.
eszeaindo,
2. Assessment vear.
QY :ch;cﬁm PODHTRN.
3. Person.
ézﬁ.
4. Entertainment allowance.

DTS eed).

5. Annual value.

05 Dend.
o

6. Capital gains.
ST g,

7. Permanent Account Number (PAN).

TR T DO,

8. Causal incomes.
O‘.’U“’Cﬁq)qbg sz oiITeD.
SECTIONB — (5 x 10 = 50 marks)
Answer any ONE guestion from each Unit.
UNIT I
9. Define tax and explain the important characteristics of tax.

“Z).ﬁ)cl” 220 HEEN R¥cdod, o8 e 23.303;35 OEETORD Lﬁv:.ﬁ)aajééfam DHBodE.
Or



10.

11.

12.

Explain :

{a)
(b)

(c) ' Tax planning.

2580%0& :

(a)
(b)
(c)

Tax avoidance.

Tax evasgion.

AlsIaAIUN BUYSLIY

SRy erdss® Bood BHodE How
55%9) DAPAED

iy DT,

UNIT IT

Mr. Bharat Ratnam furnished the following particulars of his income for the previous year
31st March, 2010..You are required to calculate his total income. If he is ordinarily resident,
not ordinarily resident and non-resident.

(a)
(b)
(c)
(d)
(&)

()

Salary received from the Government of India Rs. 5,40,000.

Salary received in Paris for the services rendered in India Embassy Rs. 2,00,000.
Income from cultivation of lands situated in Srikakulam Rs. 1,40,000.

Income from cultivation of land situated in Sri Lanka Rs. 3,00,000.

Dividends received on the shares of a Limited Company incorporated in New York and
having the branches in India Rs. 1,60,000.

Interest received Rs. 50,000 on the debentures of V.S.T. Co. Ltd., Hyderabad.

8, arGH Spin - esrra moéégdémé* ol amrdidonn) S 56 DFHMT So) eBd TR Q%J@ Dgeties DT

LIS AepEtics Dare SEHHVE J8ain DT SPRHRED DWBEHRL worchan 88) 050,
_ 0 2P = U

(a)
(b)
(c)
(d)
(e)

®

FSG DE0BH0 ol HrodR Gvnw 4. 5,40,000.

e pca o e i Tove) Fty Sﬁo"?se)oix&né{' Dden @oéo@;ﬁo@o&b ProfD dan 8. 2,00,000.
35200670 Fran WEFH0 D erralBn E°. 1,40,000.

FOES D B D) VS50 R erraDBN 4. 3,00,C00.

Bl Syesnd” Jarpn o JMBE ¥oudd erelEsns’ robew No £odb Hod DeEBoD

&2B0t 8. £,60,000.

B S 0 9.0H0.8. Sobd dMBE EBoByp 2085 3& 4. 50,000.

Or

What are the conditions to be satisfied for an income to be treated as on agricultural income?

erraE0 SgdReal esrraloon® HBAEIONIIS BoBd SBNDHOLR HBven BddanHBEGAD.

2 (1602)



13.

14.

UNIT 111

BUYSII

Smt. Hari Priya is working as sales promotion officer, her salary details are as follows =
Basic pay Rs. 18,000 p.m.; D.A. Rs, 5,000; HR.A. Rs. 3,500 p.m. (she is living in her own3,
house); Entertainment allowance : Rs. 1,000 p.m.; C.C.A. Rs. 1,500 p.m. According to services
conditions she is entitled to commission on sales and she has to bear expenses incurred ing
promoting sales. During the previous year she earned a commission of Rs. 96,000 and<
expenses incurred in this connection Rs. 40,000. She claims these expenses as deduction.

Professional tax paid by her Rs. 250 p.m. Compute income from salary in the following case:

She is working in a Government Department.

&8 FORAb whiyse dwviin efsbam SoRcnMs. B S8hn G, dHERV IS JrEBNHD
(Brne®) e 1808 Dt ¥od. MredBnin 8. 18,000; spgagmn v, 5,000 R0l e@g @eghn
8, 3,500; (230 82 B0 rb:;cmes‘s DID0WRRB). o5& g0 8, 1,000; A8 S8 eidgsn & 1,500;
éo)e?; Iy ATEHBVRLH 250 esDed 3§03:n. éSséﬁ DT DWOGHe K585 DD eamésna';.g £855 AR, 570
etysre PENO e3¢ PBOBIOIND. KB DOIBBAVHOE BDE BoBODH EMRG & 96,000. RO TR
SE BDY0DD PHYEL . 40,000, 856 Sa PENOR BROYT 2IFHOHD SHOBIYA, BD BIVD BodyBves’
BEH00 5008 errolnwnm B8 odnw.

B¢ (BB Darriand” 687y DAy,
Or

Sri Vijay Vardhan is owning two houses and from the following particulars. Compute income

from house property.
House-I  House-II

Rs. Es.
Municipal rental value 1,25,000  1,50,000
Rent of similar building 2,753,000 210,000
Standard rent ' 2,00,000  2,40,000
Actual rental value 1,80,000  2,25,000
Municipal taxes 18,750 22,000
Interest on loan taken to construct the house 50,000 14,000

& dmad X)g.SéJ 2 2g0& HyTrses o). 870D DOy 1T Aood KJI(JS;) J00d smrabindy 8800
Koo - I Py = II

s, &,
DEroE oY ©F DD 1,25,C00 1,50,000
RR0oRG ¢ DD 2,75,000 2,10,000
a’béméég Sl e 2,00,000 2,40,000
TPRDD g DeoDd _ 1,80,000 2,25,000
DTS HoD DAY 18,730 22,000
Ky Royesinng SR0H) edpp :)cé 50,000 14,000

3 | ' (1602)



15.

‘X' is working as a Lawyer in Delhi High Court.. Compute the income from profession.

UNIT 1V

Receipts Rs. Payments Rs.
To Balance b/d 5,000 By Purchase of car 24,000
To Fee from clients 44,000 By Purchase of computer 25,000
To @Gifts from clients 5,000 By Travelling expenses 1,000
To Loan from friend 15,000 By Donation to defence fund 700
By Repairs to car 1,300
By Intereston loan 1,000
By Income tax 1,000
By Balance c/d 15,000
69,000 69,000
Adjustments :
(a) Depreciation on motor car 20%.
(b) Depreciation on computer at 15%.
(c)  20% of car expenses relating to personal use.
X 39 QS oA SeBATE. 58 20d eorairy) 580908,
HATEY 20BO 5, 3doTen 3wBO P,
To Bays deg 5,000 By = S%of%es 24,000
To Zawoy dvod Do 44,000 By soipryb E%50f en 25,000
To Eo.noég H006 woRoen 5,000 By  |Salres e 1,000
To yirsod 2008 ey 15,000 By o%s 288 aoesiw 700
By = mdm&éﬁ,&n 1,300
By ey} 3G 1,000
By esoroing by 1,000
By 3dy% deg 15,000
69,000 659,000
K)dgaﬁé,.p‘ :
(a) st} BEIHED 20%.
(b) §OQ7°§€05:.3 BHrode 15%.
(€) =8 ptyes® 20% d58Ko-08 Bols.
Or
4

AJISIBAIUN BUYSLIY
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1e.

17.

-

On 14th April 2009 Mr. Vishal sold agricultural land situated within the municipal limits of
Bangalore for Rs. 86,50,000 and selling expenses Rs. 12,500. He purchased these lands for a
price of Rs. 21,50,000 during the previous year 1989-90. When the cost inflation index was
172. On 25.7.2009 he purchased a piece of agricultural land situated in Guntur Town
Municipal limits for Rs. 25,00,000 and in Vempati village for Rs. 10,00,000. On 15th March
2010 he sold these lands for a price of Rs. 33,00,000 and Rs. 11,50,000. Compute the income
from capital gain for the assessment year 2010-11.

AJISIBAIUN BUYSLIY

14 DB, 2009 # (3 97°E BorOUrd Sopnd $668S° e 85 DgoRrald glsney 8. 86,50,000 0% 3.
BED PENe) 8T 12,500, s S giraneh 1989-90 8 Hosgpand” . 21,560,000 o g R0f e
DR, epd dyob |8Seye B Hogy 172, 25.7.2009 & 97> K0T Syges DEF0E SO H6HS”
8. 25,00,000 o o8y D05 riodnd® 8 10,00,000 o Sgivrod grbnem P 0ften D,
15 578y, 2010 w8 &+ Brswemd 6. 33,00,000 bk 8. 11,50,000 o eduyd 2010-11 Sy H58o
RodenTrRd Depud erdHn B8 TR0 Heard Datuho. |

UNITV

The following are the particulars of investment of Mr. Bupesh Gupta for the previous year
ended 31st March 2009-10.

(a) Rs. 1,00,000 2% tax free Kerala Government Securities.
(b) Rs. 2,60,000 6% tax free debentures of Birla Jule Co. Ltd.
(¢) Rs. 90,000 4% (less tax) A.P. Government Bonds.
(&) Rs.1,80,000 10% fixed deposit with Indian Bank.
(e) Rs. 70,000 8% preference shares of a company.
(f) Bank charges paid Rs. 60.
(g) Interest paid on loan taken for the purchase of tax free government securities Rs. 350,
(h) Income from other heads in Rs. 2,05,100.
Compute the income from interest on securities.
2009-10 K Sod8yod §, bl (03 Bws), srrabin Ss Bod upade od Suk. 'éoéféaege) Mook é%ﬁ)
Eﬁbo@m.).
(3) & 1,00,000 2% &0s Sy 888 Dby DErBeen.
(b) 8. 2,60,000 6% DT s00d dWBES® (428 Sdy) EBodE)
(©) & 90,000 4% (D $AoD) woRHBS 350sg METgBde
(d) & 1,80,000 10% wodahs w?goébé“s&) DHE Garden
(e) . 70,000 8% $00PSD e85 Tere
(H 29023 ey e 8. 60,
(@) &08 By Bebsg wErPde TmRferp St eiph 2900 bg & 850,

(hy =88 %Eée) Mool esorohnn . 2,05,100.

5 (1602)



18.

The following details are submitted by Sri Gopi Chand. Calculate tax 11ab111ty for the

assessment year 2010-11:

(a)
(b)
(c)
()

- (e)

®
(g)

[ATae%! :()13)3;6 ol DHSA0e) &

Rs.

Salary income _ 2,60,000
Income from house property 1,40,000
Business loss 1,00,000
Short term capital gain 30,000
Long term capital gain on sale of shares on which

security transfer taxis paid 50,000
Income from other sources 20,000
Peduction U/S 80 32,000

h

B8, 030,

8.
(a) B30 od eordhin 2,680,000
(b) g 008 eTrehin | 1,40,000
(€)  orgeomn So0d Hgaw 1,00,000
) S5eys0s Dapnd ergdw 30,000

(e)
£
(g)

bys08 Deged ot (VErgPde S8 Sty Dgodwdd) 50,000
QBE 5550 H08 A 20,000

WES BO (R5e8hn dfodeo 32,000

AlsIaAIUN BUYSLIY

& %058 Sowo809%8 2010-11 RN r‘oo"de’a DoHBYoDE [TIY EU(AIEE N
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B.Com. (Vocational (IT)) DEGREE EXAMINATION, JULY 2011.

(Advance Supplementary)
(Examination at the end of First Year)

IT Procedures and Pract.

Part Il — CENTRAL SALES TAX AND A P. VALUE ADDED TAX

Time ;: Three hours

bo

10.

SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the following.
Explain dealer under CST.
Bois wiyso iy ([I500 Getoi d38odod.
Declared goods under CST.
Sos wRsY Sy Pedo (HEEE HYen.
Place of Business under CST.
Bols ednSY Sy @5do HY Rr9%o.
Deemed sales under CST.
Fo|s wipEp DY H5de 06 wdyEen.
Explain trade under VAT.

Do BEEBB Hdy (@HEo Telwyo TR ?

Dealer under VAT.
D039 LpBE DR [DEE0 et RTTRT?

Taxable turnover under VAT.
Dend esgrBs DAYS® DY DFOHERD LT B,

Qutput Tax under VAT.
Dend esgeBs DY) (95780 &g 33y AT D07

SECTION B — (5 x 10 = 50 marks)

Answer any ONE question from each Unit.

UNIT I
Write objectives and characteristics of CST.
Tofiab edgid by eQF5en bckn ofeTen @rolod.
Or
Write advantages and characteristics of VAT,

Dend exprBY Sy (IS ramren ek vgeTe) Fralod.

AJISIDAIUN BUYSIIY

Maximum : 70 marks



11.

12.

13.

14.

UNIT II

Explain the procedure to calculate sales turnover and CST.

Bolioh edysY Ty Beo HF°C0 eIRso wEHEH 880D Ry FrODOE.

Or

AJISIBAIUN BUYSLIY

Discuss various exemptions under CST,

Zofah enyEd Ky Dyo H5E0 WITFoYOR Frabod.
UNIT IIT

Mr. Rajeev's son's turnover of the interstate sale during the accounting year is Rs. 10 lacs.
From the following information compute his taxable turnover ;

Aggregate of Sale Price  Tax Collected

Rs. (%)
4,40,000 10%
3,12,000 3%
1,05,000 5%
1,43,000 Exempted Goods

The dealer has not submitted any form to the authorities.
&ob [HRys B Sod8)TR8 mis ©osd Ty eagsed’ dre egs & 10 ofw. (308 ddoe BIAHOE Sy
HEOBHERR 3G @gboboc?o.

eﬂmégo fale! DY 2E8e Bew
&oe, (%)
4,402,000 10%
.3’12'000 3%
1,05,000 5%

11,43,000  DsSanoseds e

Eob dendod Sere 53y 9850 MG BB
Or

My, ‘X’ furnishes the following particulars :
(a) Sales during the year - Rs. 8,00,000
(b) Sales include goods rejected - Rs. 50,000

(¢) Sales includes goods returned within 6 months - Rs. 25,000
2 (1603)



15.

16.

17.

(d) Sales excludes freight - Rs. 5,000
(e) Sales excludes ‘CST - Rs. 8,000.
Calculate aggregate sale price.

Mr. X 1808 250r0m0 BOAHBRLTED.

AJisiaAlun _UYSIL

(a) [PRud $0H880S? esdyseen &v, 80,000

(b) eiyses® 0 &y a8,Bodm SPHes 8. 50,000

() @f))é?@ese S0 &y 6 RS’ Tk IR sRopen 8. 25,000
() esysed® HITacD P & 5,000

(6) ebys oS’ HTF0N0DH Fo|Bo% By 8. 8,000

dro ©IRETY HE B ob0d.
UNIT IV

Explain the features of Rate of Tax under ‘CST".
o |Bab ey Day dyo (560 BB oferer d580d0d.

Or

Explain different VAT Rates.
Dewsd errBB Sy ey dIBodod.

UNITV

From the following information compute Taxable turnover of Vivek under the CST Act.

(a) Gross amount received {or) receivable by the dealer during the quarter - Rs. 16,00,000
(b)  Sale of goods outside the state - Rs. 1,00,000

(¢) Sale of goods export outside India - Rs. 3,00,000

(d) Cost of freight and installation charged separately bit included in Turnover (in case of
interstate sale) - Rs. 10,000

() Subsequent sale in the course interstate to a registered dealer - Rs. 3,90,000.

&1 (808 DdTe Mwod 93§ wd Soth Gy, Doy dGoBwl e3EY To ToBcb eiysy Iy Do Peo

88,0006,

(a) @_mni;goesﬁ &b ohels Bor $8)d Bre dugo 8. 16,00,000

(b)  orgo dewSe wiysten &, 1,00,000

(c) erdBdio Devde bR Jtksoes v 3,00,000

(d) B8 Gobiss wondorg wiysen 8. 3,90,000

(@) o Tf B P& wBan I PNy SBEHE L Drardh- O 10,000 eosboryg edysen
DoERD

Or
3 (1603)



18.

Calculate net tax payable from the following information :
{a) Taxable turnover - Rs. 50 lacs VAT Rate 10%

(b) Purchases Tax - Rs. 3 lacs

(¢) Input tax credit eligible - Rs. 2 Lacs,

1808 Darwrdo esgrdor DEovIONR B5Y Idyd B oot

(a) %y 2Bovwd wEhb & 50,00,000 dend eserbd iy Bew 10%
(b)  SROR%) Sy 8. 3,00,000

(€) aom6E S3y BéeS 8. 2,00,000.

AJSIaAlUN BUYSLIY

(1603)



'.(1604) '

?

B.Com. (Vocational (AD)) DEGREE EXAMINATION
JULY 2011. |

(Advance Supplementary)
{Examination at the end of First Year) -
Adv. Sales Prog. and SM
Part Il — MARKETING COMMUNICATION — V

Time : Three hours ‘ Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following.

1. Personal selling.

2. Direct marketing.
3. Public relations.
4, Internet marketing.

5. . Feed back.

6. Promotional methods.

AISIBAIUN BUYSLIY



Krishna Umv&%lﬁON B— (5 x 10 = 50 marks)

Answer any FIVE of the following selecting One from

10.

11.

12.

13.

14,

each Unit. _

UNIT1

Explain the important elements of communication
process. ' R

Discuss the objectives of communication.
UNIT I1
Bring out the problems in communication process.

What are the steps involved in effective
communication?

UNIT IIT

What do you mean by advertising? Explain its role
in marketing communication

Discuss the merits and demerits of sales
promotion. ' ‘

- UNIT IV
What are the steps in setting up of sales targets? .

What are the problems in achieving advertising
objectives? : '

2 e (1604)

15.

16.

UNIT V

Discuss the role of Integrated communication in
marketing process.

Explain the significance of Internet in integrated
communication process. :

5 (1604
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B.Com. DEGREE EXAMINATION, JULY 2011.
(Examination at the end of First Year)
(ASP & SM)

Part IT — ADVERTISING — 1
Time : Three hours Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following.

1. Funections of advertising.

2. Features of advertising.

3. Types of advertising media.
4. Product advertising. |

5.  Elements of a broadcast copy.
6.  Non-commercial advértising.r

AYISIBAIUN BUYSII



Krishna University

SECTION B — (5 x 10 = 50 marks)

Answer FIVE of the following questions, selecting

ONE question from each Unit.

UNIT I

Explain the benefits of advertising to various

parties.

What is the role of advertising in the national

economy?
UNIT 11

 What is Anstitutional advertising? What are iis
ohjectives?

What is Co-operative advertising? What are its

merits?
UNIT III

Explain the process of setting advertising

ohjectives.

What is the need and importance of setting

advertising objectives?

9 (1605)

13.

14,

15.

16.

UNIT IV

What is advertising media? What are the merits

and demerits of print media?

Explain the factors that affect the selection of

~ media,

UNIT V

“What is advertising copy? What points would you

consider while preparing a good advertisement
copy? :

What are the elements of a print copy?

3 (1605)



of their studies (Ziemba, 1990). Kato and
Schallheim (1985) and Hamori (2001) found
January returns are positive-and higher than
those of other months.

Ziemba (1990) also found that-the returns of
January, June and December are positive and
higher than other months. There are several
theories-the tax-loss-selling hypothesis, which was
suggested by Reinganum (1983). It says that
investors sell non-profitable stocks for tax reasons
at the end of the year. Roll (1983) argued that, the
above reason will cause the decreases in stock
prices at the year end. This will make the
investors to buy before the tax-year end and/to sell
at the beginning of new tax year.

4 (1703) .
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B.Com. (Restructured) DEGREE EXAMINATION,
JULY 2011.

(Advance Supplementary)
(Examination at the end of First Year)
Office Mgt. & Secre. Prac. Corpo.

. Part I — OFFICE MANAGEMENT AND
TYPEWRITING —V

Time : Three hours : Maximum : 100 marks
PART A , '
(OFFICE MANAGEMENT)
1.  Answer any TWO of the following : {2 x 20 = 40)

(a) What do you mean by office management?
~ Discuss the functions of office manager.

SO0 DEEFE  WRTRIN?  Sorgedh
DOGIREOR e D5B0DOE, '

(h) Examine the importance and objectives of
space management, Suggest measures for
optimum use of office space.

9@5@(1‘53 ge) DEgT e o?mgb L@vm%@a
BBy oxEd $8¥0dos. sorgEdD JoSnd
FBrrond® &3BrRotes Srdddigoed.

AYISIDAIUN BUYSLIY



Krishna University
()  What are the various types of communication
services used in a modern office? Explain
them,

&350 svooéoom:mess &3A3Rody A S5ee

[508 275 DDen D7 T3 I5B0Bdod.

(d) What are the problems involved in stationery
control in the office? Give the solutions to
overcome them,

SURRAD RS0 RdboEesS” e mepothen
5801308, TEO OHADIOBLD BO SB50%0E

Answer any TWO questions : (2x5=10)
(a) Dictaphone.

&g;;‘)ﬁs.
(b). Open office.
280l SPTgRAR.
(¢©0 Importance of filing.
POR @y, (RIS
(d) Problems of shifting office.
5°0°?5e)o‘33 BIERS” agoen.

2 (1703)

PART B

(TYPEWRITING)

Answer any TEN questions :

(a)
(b
(c)
(d)
(e)
3]
(e)
(h)
(i)
@)
k)
0

Paper guide

Shift key -

Carriage

Carbon roller equipment
Left margin key

Space bar

" Use of backspace key

Feed rolls

Ribbon indicator

Card holding equipment
Carriage rail

Function of a cylinder.

(10 x 1 = 10)

Type the following in double space in 10 minutes :

(40)

Only a few empirical studies have examined the
month-of-the-year effects for Japanese stock
market. The reason is that the big Japanese
brokerage firms are unaware of their potential use
and these firms do not like to publish the finding

3
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